Bellwork  Alg2B  Monday, September 25, 2017

1. Simplify. Make sure the denominator is rationalized. 2. Rationalize the denominator.
Assume that all variables are positive. Simplify your answer.
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3. If k < 0 and x = 7 in the equation below, 4. If WY and XZ are diameters with lengths of 12,
what is the value of x — k? what is the total area of the two triangles?
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1. Simplify. Make sure the denominator is rationalized. 2. Rationalize the denominator.
Assume that all variables are positive. Simplify your answer.
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3. If £ < 0 and x = 7 in the equation below,

4. If WY and XZ are diameters with lengths of 12,
what is the value of x — £?

what is the total area of the two triangles?
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